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Question 1.Select the related word/letters/numbers from the given alternatives: 

दिये गये दिकल्पों में से सोंबन्धित शब्द/अक्षरपों/सोंख्या कप चुदिए। 

Magazine : Editor :: Drama : ? 

पदिका : सम्पािक :: िाटक : ? 

Options: 
1) Director
दििेशक 
2) Hero
िायक 
3) Heroine
िादयका 
4) Painter
दचिकार  

Correct Answer: Director 
दििेशक  

Candidate Answer: Director 
दििेशक  

Question 2.Select the related word/letters/numbers from the given alternatives: 

दिये गये दिकल्पों में से सोंबन्धित शब्द/अक्षरपों/सोंख्या कप चुदिए। 

ACEG : IKMO :: QSUW : ? 

Options: 
1) YZCE

2) YACD

3) YACE
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4) YBCE 

Correct Answer: YACE   
Candidate Answer: YACE   
  

Question 3.Select the related word/letters/numbers from the given alternatives:  
 
दिये गये दिकल्पों में से सोंबन्धित शब्द/अक्षरपों/सोंख्या कप चुदिए। 
 
12 : 39 :: 15 : ?  

  

Options: 
1) 48 
 
2) 52 
 
3) 39 
 
4) 51 

  

Correct Answer: 48   
Candidate Answer: 48   
  

Question 4. 
 
 
 
 
For the following questions 
 
Find the odd word/letters/number pair from the given alternatives. 
 
 
 
दिम्नदिन्धित प्रश्न में दिए गए दिकल्पों में से दिषम शब्द/अक्षर/सोंख्या युग्म कप चुदिए ?  

  

Options: 
1) Torch 
टाचच 
2) Battery 
बैटरी 
3) Candle 
मपमबत्ती 
4) Lamp 
िीपक  

  

Correct Answer: Battery 
बैटरी    

Candidate Answer: Battery 
बैटरी    



  

Question 5. 
 
 
 
 
For the following questions 
 
Find the odd word/letters/number pair from the given alternatives. 
 
दिम्नदिन्धित प्रश्न में दिए गए दिकल्पों में से दिषम शब्द/अक्षर/सोंख्या युग्म कप चुदिए ?  

  

Options: 
1) CA 
 
2) FD 
 
3) KI 
 
4) TQ 

  

Correct Answer: TQ   
Candidate Answer: TQ   
  

Question 6. 
 
 
 
 
For the following questions 
 
Find the odd word/letters/number pair from the given alternatives. 
 
दिम्नदिन्धित प्रश्न में दिए गए दिकल्पों में से दिषम शब्द/अक्षर/सोंख्या युग्म कप चुदिए ?  

  

Options: 
1) 73-61 
 
2) 57-69 
 
3) 47-59 
 
4) 42-29 

  

Correct Answer: 42-29   
Candidate Answer: 42-29   
  

Question 7.Arrange the following words as per order in the dictionary. 
 
दिम्नदिन्धित शब्दपों कप शब्दकपश में दिए गए क्रम के अिुसार दिन्धिए ?  
 

  



1. Scarf 2.Scene 3.Shell 4.Survey 5.Stream  

Options: 
1) 1, 2, 4, 5, 3 
 
2) 2, 4, 5, 1, 3 
 
3) 3, 1, 2, 5, 4 
 
4) 1, 2, 3, 5, 4 

  

Correct Answer: 1, 2, 3, 5, 4   
Candidate Answer: 1, 2, 3, 5, 4   
  

Question 8.A series is given, with one term missing. Choose the correct alternative from the 
given ones that will complete the series.  
 
दिम्नदिन्धित प्रश्न में एक अिुक्रम दिया गया है, दिसमें एक पि िुप्त है। दिए गए दिकल्पों में से िह सही 
दिकल् चुदिए िप अिुक्रम कप पूरा करे ? 
 
DCB, HGF, ? , PON  

  

Options: 
1) LKJ 
 
2) QRO 
 
3) SUM 
 
4) XZY 

  

Correct Answer: LKJ   
Candidate Answer: LKJ   
  

Question 9.A series is given, with one term missing. Choose the correct alternative from the 
given ones that will complete the series. 
 
दिम्नदिन्धित प्रश्न में एक अिुक्रम दिया गया है, दिसमें एक पि िुप्त है। दिए गए दिकल्पों में से िह सही 
दिकल् चुदिए िप अिुक्रम कप पूरा करे ?  
 
4, 9, 16, 25, 36, ?  

  

Options: 
1) 49 
 
2) 56 
 
3) 21 
 
4) 94 

  

Correct Answer: 49   



Candidate Answer: 49   
  

Question 10.A is D's brother. D is B's father. B&C are sisters. How is C related to A? 
 
A , D का भाई है, D, B का दपता है, B और C बहिे हैं। C का A से सोंबोंध बताइए ?  

  

Options: 
1) Cousin 
चचेरी बहि 
2) Niece 
भतीिी 
3) Aunt 
चाची 
4) Nephew 
भतीिा  

  

Correct Answer: Niece 
भतीिी    

Candidate Answer: Niece 
भतीिी    

  

Question 11.At a college party 5 girls are sitting in a row. P is to the left of M and to the 
right of O. R is sitting to the right of N, but to the left of O. Who is sitting in the middle? 
 
कॉिेि की एक पाटी की एक पोंन्धि में 5 िड़दकयाों बैठी हैं। P, M के बायें और O के िायी ों ओर बैठी 
है। R, N के िायी ों ओर दकनु्त O के बायी ों ओर बैठी है। बीच में कौि है ?  

  

Options: 
1) O 
 
2) R 
 
3) P 
 
4) M 

  

Correct Answer: O   
Candidate Answer: O   
  

Question 12.From the given alternative words, select the word which cannot be formed 
using the letters of the given word:  
 
दिम्नदिन्धित दिकल्पों में से िह शब्द चुदिए िप दिए गए शब्द के अक्षरपों का प्रयपग करके िही ों बिाया 
िा सकता ?  
 
CONSULTATION  

  

Options: 
1) CONSTANT 
 

  



2) NATION 
 
3) SALUTE 
 
4) STATION 

Correct Answer: SALUTE   
Candidate Answer: SALUTE   
  

Question 13.If S = 19, SUN = 54 and CAKE = 20 , then MISTAKE = ? 
 
यदि S= 19, SUN = 54 और CAKE = 20 हप, तप MISTAKE दकसके बराबर हपगा ?  

  

Options: 
1) 78 
 
2) 68 
 
3) 59 
 
4) 48 

  

Correct Answer: 78   
Candidate Answer: 68   
  

Question 14.If '+' stands for multiplication, '-' stands for addition, 'x' stands for division, 
then what is the value of 128 + 9 - 16 x 4 = ? 
 
यदि '+' का अर्च गुणा हप, '-' का अर्च िमा हप और 'x' का अर्च भाग हप, तप 128 + 9 - 16 x 4 = क्या 
हपगा  

  

Options: 
1) 73 
 
2) 256 
 
3) 1156 
 
4) 1352 

  

Correct Answer: 1156   
Candidate Answer: 1156   
  

Question 15.In this question, some equations are solved on the basis of a certain system. On 
the same basis find out the correct answer from amongst the four alternatives for the 
unsolved equation. 
 
कुछ समीकरण एक दिदित प्रणािी से हि दकए गए हैं। उसी आधार पर दिए गए दिकल्पों में से सही 
उत्तर चुिकर दिन्धिए ? 
 
6 x 2 x 9 = 269 

  



8 x 7 x 1 = 781 
4 x 1 x 3 = ?  

Options: 
1) 431 
 
2) 413 
 
3) 341 
 
4) 143 

  

Correct Answer: 143   
Candidate Answer: 143   
  

Question 16.Select the missing numbers from the given alternatives  
 
दिए गए दिकल्पों में से िुप्त अोंक ज्ञात कीदिए ? 
 

 

  

Options: 
1) 143 
 
2) 169 
 
3) 455 
 
4) 545 

  

Correct Answer: 455   
Candidate Answer: 455   
  

Question 17.To attend an exam, Sudhir reached the school by travelling 5 km towards 
South, and after a sharp left turn, he travelled for about 10 km. He again made a sharp left 
turn and reached in front of the school by travelling 5 km more. Which direction is Sudhir's 
starting point from the school? 
 
दकसी परीक्षा में बैठिे के दिए सुधीर सू्कि के दिए 5 दक.मी. िदक्षण की ओर चिा, दिर तेिी से बायें 
मुड़ कर 10 दक.मी. चिा। दिर तेिी से बायें मुड़ कर सू्कि के सामिे पहुँच गया दिस दबन्िु से सुधीर िे 
चििा शुरु दकया र्ा िह सू्कि से दकस दिशा में है ?  

  

Options: 
1) East   



पूिच 
2) West 
पदिम 
3) North 
उत्तर 
4) South 
िदक्षण  

Correct Answer: West 
पदिम    

Candidate Answer: East 
पूिच    

  

Question 18.Consider the given statement/s to be true and decide which of the given 
conclusions/assumptions can definitely be drawn from the given statement.  
Statements: 1. All books are novels.  
2. Some novels are poems.  
Conclusions: I. Some books are poems.  
II. Some poems are novels. 
 
दिम्नदिन्धित प्रश्न में एक या िप ििव्य दिये गये हैं, दिसके आगे िप दिष्कषच/मान्यताएों , I और II दिकािे 
गये हैं। आपकप दिचार करिा है दक ििव्य सत्य है चाहे िह सामान्यतः ज्ञात तथ्पों से दभन्न प्रतीत हपता 
हप। आपकप दिणचय करिा है दक दिए गए ििव्य में से कौिसा दिदित रूप से सही दिष्कषच/मान्यता 
दिकािा िा सकता है ? 
 
ििव्य : 1. सभी पुस्तकें  उपन्यास हैं।  
 
2. कुछ उपन्यास कदिताएों  हैं। 
 
दिष्कषच : I कुछ पुस्तकें  कदिताएों  हैं। 
 
II कुछ कदिताएों  उपन्यास हैं।  

  

Options: 
1) Only conclusion I follows 
केिि दिष्कषच I सही है। 
2) Only conclusion II follows 
केिि दिष्कषच II सही है। 
3) Neither conclusion I nor conclusion II follows 
िा तप दिष्कषच I सही है, और िा ही दिष्कषच II सही है। 
4) Both conclusion I and conclusion II follow 
दिष्कषच I और II िपिपों सही है।  

  

Correct Answer: Only conclusion II follows 
केिि दिष्कषच II सही है।    

Candidate Answer: Only conclusion II follows 
केिि दिष्कषच II सही है।    

  



Question 19.Which symbol will appear on the face opposite to the face of a circle O in the 
cube given below?  
 
िृत्त O के ििक के दिपरीत ििक पर कौि-सा प्रतीक दििाई िेगा ? 
 

 

  

Options: 
1)  

 
 
2)  

 
 
3)  

 
 
4)  

 

  



Correct Answer:  

 

  

Candidate Answer:  

 

  

  

Question 20.Which one of the following diagrams represents the relationship between 
Insects, Flies and Dogs?  
 
दिम्नदिन्धित में से कौि-सा आरेि कीटपों, मन्धियपों और कुत्तपों के बीच सोंबोंध का सही दिरुपण करता है 
? 

  

Options: 
1)  

 
 
2)  

 
 
3)  

  



 
 
4)  

 
Correct Answer:  

 

  

Candidate Answer:  

 

  

  

Question 21.Which answer figure will complete the pattern in the question figure?  
 
कौि-सी उत्तर आकृदत प्रश्न आकृदत के प्रदतरुप कप पूरा करेगी ? 
 

  



 
Options: 
1)  

 
 
2)  

 
 
3)  

 
 
4)  

 

  

Correct Answer:    



 
Candidate Answer:  

 

  

  

Question 22.From the given answer figures, select the one in which the question figure is 
hidden.  
 
िी गई उत्तर आकृदतयपों में से उस उत्तर आकृदत कप चुदिए दिसमें प्रश्न आकृदत दिदहत है ? 
 
 

 

  

Options: 
1)  

 
 
2)  

  



 
 
3)  

 
 
4)  

 
Correct Answer:  

 

  

Candidate Answer:  

 

  

  

Question 23.A piece of paper is folded and cut as shown below in the question figures. 
From the given answer figures, indicate how it will appear when opened.  
 

  



यदि दकसी कागि कप िीचे दिए गए प्रश्न में दििाए अिुसार मपड़कर काटा िाए तप िपििे के बाि िह 
दकस आकृदत िैसा दििाई िेगा ?  
 

 
Options: 
1)  

 
 
2)  

 
 
3)  

 
 
4)  

 

  



Correct Answer:  

 

  

Candidate Answer:  

 

  

  

Question 24.Which of the answer figure is exactly the mirror image of the given figure, 
when the mirror is held on the line AB ?  
 
उत्तर आकृदतयपों में कौि-सी आकृदत प्रश्न आकृदत का सही प्रदतदबम्ब हपगी,िबदक िपचण AB रेिा पर 
रिा हप ? 
 

 

  

Options: 
1)  

 
 
2)  

  



 
 
3)  

 
 
4)  

 
Correct Answer:  

 

  

Candidate Answer:  

 

  

  

Question 25.In the question, a word is represented by only one set of numbers as given in 
any one of the alternatives. The sets of numbers given in the alternatives are represented by 
two classes of alphabets as in two matrices given below. The columns and rows of Matrix I 

  



are numbered from 0 to 4 and that of Matrix II are numbered from 5 to 9. A letter from 
these matrices can be represented first by its row and next by its column, e.g., 'L' can be 
represented by 12, 24 etc., and 'R' can be represented by 55, 67 etc. Similarly you have to 
identify the set for the word 'SENT'  
 
दिम्नदिन्धित प्रश्न में दिकल्पों में दिए गए सोंख्या-समूह, अक्षरपों के िप िगों द्वारा िशाचए गए हैं, िैसे दक 
िीचे दिए गए िप आवू्यहपों में हैं। आवू्यह I के सतम्भ और पोंन्धि की सोंख्या 0 से 4 तक िी गई है, और 
आवू्यह II के 5 से 9 तक, इि आवू्यहपों से एक अक्षर कप पहिे उसकी पोंन्धि और बाि में स्तम्भ सोंख्या 
द्वारा िशाचया िा सकता है। उिाहरण के दिए, L कप 12, 24 आदि द्वारा िशाचया िा सकता है तर्ा R 
कप 55, 67आदि द्वारा िशाचया िा सकता है। इसी तरह से आपकप दिए शब्द 'SENT' के दिए समूह कप 
पहचाििा है। 
 

 
Options: 
1) 10, 20, 58, 77 
 
2) 22, 32, 65, 78 
 
3) 34, 44, 67, 87 
 
4) 41, 13, 87, 68 

  

Correct Answer: 22, 32, 65, 78   
Candidate Answer: 22, 32, 65, 78   
  

Question 26.Swarna Jayanti Gram Swarojgar Yojna has now been restructured as 
 
स्िणचियि्ती ग्राम स्िरपज़गार यपििा पुिचगदठत हपकर अब क्या हप गई है ?  

  

Options: 
1) Prime Minister's Rojgar Yojna 
प्रधािमि्िी रपज़गार यपििा 
2) National Rural Livelihoods Mission 
राष्टर ीय ग्रामीण िीदिका दमशि 
3) Jawahar Gram Samriddhi Yojana 
ििाहर ग्राम समृन्धि यपििा 
4) Sampoorna Gramin Rojgar Yojana 
सम्पूणच ग्रामीण रपज़गार यपििा  

  



Correct Answer: National Rural Livelihoods Mission 
राष्टर ीय ग्रामीण िीदिका दमशि    

Candidate Answer: Prime Minister's Rojgar Yojna 
प्रधािमि्िी रपज़गार यपििा    

  

Question 27.Neeraj Chopra is associated with which sports? 
 
िीरि चपपड़ा का िाम कौिसे िेि से िुड़ा है ?  

  

Options: 
1) Kabaddi 
कबड्डी 
2) Cricket 
दक्रकेट 
3) Javelin Throw 
भािा िें क 
4) Wrestling 
कुश्ती  

  

Correct Answer: Javelin Throw 
भािा िें क    

Candidate Answer: Javelin Throw 
भािा िें क    

  

Question 28.Which of the following is not a commercial source of energy? 
 
दिम्िदिन्धित में से कौिसा ऊिाच का िादणन्धिक स्रपत िही ों है ?  

  

Options: 
1) Coal 
कपयिा 
2) Petroleum 
पेटर पदियम 
3) Natural Gas 
प्राकृदतक गैस 
4) Firewood 
ईोंधि  

  

Correct Answer: Firewood 
ईोंधि    

Candidate Answer: Natural Gas 
प्राकृदतक गैस    

  

Question 29.Who is the runners-up in the recently held UEFA Euro-16? 
 
हाि ही में हए यू.ई.एि.ए. यूरप-16 में िूसरे स्र्ाि पर कौि र्ा ?  

  

Options: 
1) Germany   



िमचिी 
2) Portugal 
पुतचगाि 
3) France 
फ्ाुँस 
4) U.K 
यूिाइटेड दकों गडम  

Correct Answer: France 
फ्ाुँस    

Candidate Answer: France 
फ्ाुँस    

  

Question 30.Taoism, is an ancient tradition of Philosophy and religious belief deeply rooted 
in 
 
टाओिाि, िशचि और धादमचक आस्र्ा की एक प्राचीि परम्परा है िप दिम्िदिन्धित में से दकससे गहरे 
रुप से िुड़ी हई है?  

  

Options: 
1) Taiwanese custom and world view 
ताइिािी प्रर्ा और दिश्िदृ्रदि 
2) Chinese custom and world view 
चीिी प्रर्ा और दिश्िदृ्रदि 
3) Japanese custom and world view 
िापािी प्रर्ा और दिश्िदृ्रदि 
4) Vietnamese custom and world view 
दियतिामी प्रर्ा और दिश्िदृ्रदि  

  

Correct Answer: Chinese custom and world view 
चीिी प्रर्ा और दिश्िदृ्रदि    

Candidate Answer: Taiwanese custom and world view 
ताइिािी प्रर्ा और दिश्िदृ्रदि    

  

Question 31.Which of the following is an emergency hormone in humans? 
 
मिुष्यपों में दिम्िदिन्धित में से कौिसा आपातकािीि हामोि है ?  

  

Options: 
1) Thyroxine 
र्ाइरॉक्सीि 
2) Insulin 
इि्सुदिि 
3) Adrenalin 
एन्धरर िेिीि 
4) Progestrone 
प्रपिेस्टर पि  

  

Correct Answer: Adrenalin   



एन्धरर िेिीि  

Candidate Answer: Thyroxine 
र्ाइरॉक्सीि    

  

Question 32.Which term is not associated with sound wave? 
 
ध्िदि तरोंगपों से कौिसा शब्ि िुड़ा हआ िही ों है ?  

  

Options: 
1) Hertz 
हटचि् 
2) Decibel 
डेसीबि 
3) Candela 
कैि्डेिा 
4) Mach 
मैक  

  

Correct Answer: Candela 
कैि्डेिा    

Candidate Answer: Candela 
कैि्डेिा    

  

Question 33.In computer science, data hazard occurs when 
 
कम्प्यूटर दिज्ञाि में, डाटा पर ितरा उत्पन्न हपता है िब  

  

Options: 
1) pipeline changes the order of read/write access to operands 
पाइपिाईि रीड/राईट एक्सेस का क्रम ऑपरेि्डस के दिये बिि िेती है 
2) performance loss 
प्रिशचि (परिॉमेि्स) िराब हपती है 
3) machine size is limited 
मशीि का आकार सीदमत है 
4) some functional unit is not fully pipelined 
कपई िों क्शिि यूदिट पूरी तरह पाईपिाइि में ि हप  

  

Correct Answer: pipeline changes the order of read/write access to operands 
पाइपिाईि रीड/राईट एक्सेस का क्रम ऑपरेि्डस के दिये बिि िेती है    

Candidate Answer: pipeline changes the order of read/write access to operands 
पाइपिाईि रीड/राईट एक्सेस का क्रम ऑपरेि्डस के दिये बिि िेती है    

  

Question 34.During the period of which Governor General / Viceroy was the Indian Civil 
Service introduced? 
 
भारतीय दसदिि सेिा दकस गििचर ििरि / िायसराय के शासि के िौराि आरम्भ की गई र्ी ?  

  

Options: 
1) Dalhousie   



डिहौज़ी 
2) Curzon 
कज़चि 
3) Bentick 
बेन्धिक 
4) Cornwallis 
कॉिचिादिस  

Correct Answer: Cornwallis 
कॉिचिादिस    

Candidate Answer: Bentick 
बेन्धिक    

  

Question 35.Which of the following is the uppermost layer of the atmosphere? 
 
दिम्िदिन्धित में से कौिसी िायुमोंडि की सबसे ऊपरी परत है ?  

  

Options: 
1) Stratosphere 
समतापमोंडि 
 
(स्टर ैटपस्िीयर) 
2) Mesosphere 
मध्यमोंडि 
3) Ionosphere 
आयिमोंडि 
4) Exosphere 
बदहमंडि  

  

Correct Answer: Exosphere 
बदहमंडि    

Candidate Answer: Exosphere 
बदहमंडि    

  

Question 36.The first Commercial Civilian Aircraft developed by India is : 
 
भारत द्वारा दिकदसत प्रर्म िादणन्धिक असैदिक िायुयाि कौिसा है?  

  

Options: 
1) Pawan Hans 
पिि होंस 
2) Tejas 
तेिस 
3) Gajraj 
गिराि 
4) Saras 
सारस  

  

Correct Answer: Saras   



सारस  

Candidate Answer: Tejas 
तेिस    

  

Question 37.Webbed neck is a characteristic of 
 
दिि्िीिार गिचि (िेब्ड िेक) दकसका अदभिक्षण है ?  

  

Options: 
1) Down's syndrome 
डाउि्स सोंिक्षण 
2) Turner's syndrome 
टिचर सोंिक्षण 
3) Klinefelter's syndrome 
क्िाईििैि्टर सोंिक्षण 
4) Cri-du-chat syndrome 
दक्र-िु-चेट सोंिक्षण  

  

Correct Answer: Turner's syndrome 
टिचर सोंिक्षण    

Candidate Answer: Klinefelter's syndrome 
क्िाईििैि्टर सोंिक्षण    

  

Question 38.The World Trade Organisation, which replaced GATT, has its Head Quarters 
in 
 
दिश्ि ि्यापार सोंगठि, िप अब 'गैट' के स्र्ाि पर है, का मुि्यािय कहॉों न्धथर्त है ?  

  

Options: 
1) Vienna 
दियिा 
2) Brussels 
बु्रसेल्स 
3) New York 
ि्यूयॉकच  
4) Geneva 
दििेिा  

  

Correct Answer: Geneva 
दििेिा    

Candidate Answer: Geneva 
दििेिा    

  

Question 39.The minimum age limit for the membership of the Vidhan Parishad is _____ . 
 
दिधाि पररषि की सिस्यता के दिए ि्यूितम आयु सीमा क्या है ?  

  

Options: 
1) 21 years   



21 िषच 
2) 25 years 
25 िषच 
3) 30 years 
30 िषच 
4) 35 years 
35 िषच  

Correct Answer: 30 years 
30 िषच    

Candidate Answer: 30 years 
30 िषच    

  

Question 40.National Anthem of Bangladesh 'Amar Sonar Bangla' was written by 
 
बाोंग्िािेश का राष्टर ीय गाि, 'आमार सपिार बाोंगिा' दकसिे दििा र्ा ?  

  

Options: 
1) Rabindranath Tagore 
रबीि्द्रिार् टैगपर 
2) Sarojini Naidu 
सरपदििी िायडू 
3) Kazi Nazrul Islam 
काज़ी ििरूि इस्िाम 
4) Taslima Nasrin 
तस्िीमा िसरीि  

  

Correct Answer: Rabindranath Tagore 
रबीि्द्रिार् टैगपर    

Candidate Answer: Rabindranath Tagore 
रबीि्द्रिार् टैगपर    

  

Question 41.The largest producer of Lac in India is 
 
भारत में िाि का सबसे अदधक उत्पािि कहाुँ हपता है?  

  

Options: 
1) Chattisgarh 
छत्तीसगढ़ 
2) Jharkhand 
िारिण्ड 
3) West Bengal 
पदिम बोंगाि 
4) Gujarat 
गुिरात  

  

Correct Answer: Jharkhand 
िारिण्ड    

Candidate Answer: Jharkhand   



िारिण्ड  

  

Question 42.The founder of Bachpan Bachao Andolan (Save Child Movement ) is 
 
बचपि बचाओ आि्िपिि' के सोंस्र्ापक कौि हैं?  

  

Options: 
1) Malala Yousafzai 
मिािा यूसुििई 
2) Sane Guruji 
सािे गुरूिी 
3) Salman Khan 
सिमाि िाि 
4) Kailash Satyarthi 
कैिाश सत्यार्ी  

  

Correct Answer: Kailash Satyarthi 
कैिाश सत्यार्ी    

Candidate Answer: Kailash Satyarthi 
कैिाश सत्यार्ी    

  

Question 43.If an electron and a photon have the same wavelength, then they will have the 
same 
 
यदि दकसी इिैक्टर ॉि और िपटॉि का समाि तरोंगिैर््चय हप तप उिका दिम्िदिन्धित में से क्या समाि 
हपगा ?  

  

Options: 
1) velocity 
िेग 
2) linear momentum 
रैन्धिक सोंिेग 
3) angular momentum 
कपणीय सोंिेग 
4) energy 
ऊिाच  

  

Correct Answer: linear momentum 
रैन्धिक सोंिेग    

Candidate Answer: linear momentum 
रैन्धिक सोंिेग    

  

Question 44.Pandit Lachhu Maharaj, who passed away recently, was associated with 
 
पन्धित िच्छू महाराि, दििका हाि ही में िेह्वसाि हआ है, दकस दिधा से िुडे़ रे् ?  

  

Options: 
1) Flute 
बाोंसुरी 

  



2) Tabla 
तबिा 
3) Kathak 
कत्र्क 
4) Bharatnatyam 
भरतिाट्यम  

Correct Answer: Tabla 
तबिा    

Candidate Answer: Kathak 
कत्र्क    

  

Question 45.A tropical deciduous plant special to the Deccan plateau is 
 
दिम्िदिन्धित में से कौि उष्णकदटबोंधीय पतिड़ी पौधा है िप िक्कि के पठार की दिशेषता है ?  

  

Options: 
1) Teak 
सागौि 
2) Shisam 
शीषम 
3) Sandalwood 
चोंिि 
4) Sal 
साि  

  

Correct Answer: Sandalwood 
चोंिि    

Candidate Answer: Sandalwood 
चोंिि    

  

Question 46.Kalarippayatt is the martial art of which State of 
 
क्िारीपायट' दकस राि्य का माशचि आटच है ?  

  

Options: 
1) Madhya Pradesh 
मध्य प्रिेश 
2) Mizoram 
दमज़परम 
3) Nagaland 
िागािैंड़ 
4) Kerala 
केरि  

  

Correct Answer: Kerala 
केरि    

Candidate Answer: Mizoram 
दमज़परम    



  

Question 47.Leptospirosis is a disease caused by 
 
िैप्टपस्पायरपदसस' एक रपग है िप दिम्िदिन्धित में से दकससे हपता हे ?  

  

Options: 
1) Virus 
दिषाणु 
2) Fungus 
किक 
3) Protozoa 
प्रपटपज़पआ 
4) None 
इि में से कपई िही ों  

  

Correct Answer: None 
इि में से कपई िही ों    

Candidate Answer: Fungus 
किक    

  

Question 48.The most abundant metal in the Earth's crust is  
 
पृर््िी की पपड़ी में सबसे िािा पाया िािे िािा धातु कौिसा है ?  

  

Options: 
1) zinc 
दिोंक 
2) copper 
ताोंबा 
3) aluminium 
एि्युमीदियम 
4) iron 
िपहा  

  

Correct Answer: aluminium 
एि्युमीदियम    

Candidate Answer: aluminium 
एि्युमीदियम    

  

Question 49.Hepatitis affects which organ of the human body? 
 
हेपीटाइदटस मािि शरीर के दकस अोंग कप प्रभादित करता है ?  

  

Options: 
1) Liver 
दिगर 
2) Pancreas 
अग्न्याशय  
 

  



(पैन्धन्क्रया) 
3) Spleen 
दति्िी 
4) Small intestine 
छपटी आोंत  

Correct Answer: Liver 
दिगर    

Candidate Answer: Liver 
दिगर    

  

Question 50.Mohammed Shahid, who recently passed away, was associated with which 
sport? 
 
मुहम्मि शादहि, दििका हाि ही में इन्तकाि हआ है, कौिसे िेि से िुडे़ रे् ?  

  

Options: 
1) Badminton 
बैडदमि्टि 
2) Hockey 
हॉकी 
3) Football 
िुटबॉि 
4) Cricket 
दक्रकेट  

  

Correct Answer: Hockey 
हॉकी    

Candidate Answer: Cricket 
दक्रकेट    

  

Question 51.A & B together finish a job in 24 days, while A, B & C together can finish the 
same job in 8 days. C alone will finish the job in 
 
 
 
A और B दमिकर दकसी काम कप 24 दिि में करते हैं और A,B,C दमिकर उसी काम कप 8 दिि में 
समाप्त कर सकते हैं। C अकेिा उस कायच कप दकतिे दिि में समाप्त करेगा ?  

  

Options: 
1) 12 days 
12 दिि 
2) 14 days 
14 दिि 
3) 16 days 
16 दिि 
4) 24 days 
24 दिि  

  

Correct Answer: 12 days   



12 दिि  

Candidate Answer: 12 days 
12 दिि    

  

Question 52.Area of the circle inscribed in a square of diagonal 6√2 cm (in sq cm) is  
 
6√2 से.मी. दिकणच िािे िगच मे गपिे का के्षििि से.मी.2 में ज्ञात कीदिए ?  

  

Options: 
1) 9 Π 
 
2) 6 Π 
 
3) 3 Π 
 
4)  

 

  

Correct Answer: 9 Π   
Candidate Answer: 9 Π   
  

Question 53.The original price of a TV set is Rs. 6,000. If the price is discounted by 20% 
and then raised by 10% for service contract, the price charged by the shopkeeper is 
 
 
दकसी टीिी सेट की मूि कीमत Rs. 6000 है। यदि उस कीमत पर 20% की छूट दिया िाए और दिर 
सेिा-सोंदििा के रूप में 10% रादश बढ़ा िी िाए तप िुकाििार उस टीिी की कीमत क्या िेगा ?  

  

Options: 
1) Rs. 5400 
 
2) Rs. 5280 
 
3) Rs. 5100 
 
4) Rs.4200 

  

Correct Answer: Rs. 5280   
Candidate Answer: Rs. 5280   
  

Question 54.A certain sum of money was divided between A, B and C in the ratio 5:6:9. If 
A received Rs. 450 the sum divided was 
 
 
कपई धिरादश A,B और C के बीच 5:6:9 के अिुपात में दिभादित की गई । यदि A कप Rs. 450 दमिे 
हप तप कुि धिरादश दकतिी र्ी ?  

  

Options: 
1) 2000 
 

  



2) 1800 
 
3) 2250 
 
4) 1000 

Correct Answer: 1800   
Candidate Answer: 1800   
  

Question 55.By selling a bag at Rs. 230, profit of 15% is made. The selling price of the bag, 
when it is sold at 20% profit would be 
 
 
दकसी बैग कप Rs. 230 में बेचे िािे पर 15% का िाभ हपता है। यदि बैग कप 20% िाभ पर बेचा िाए 
तप उसकी दबक्री-कीमत बताइए ?  

  

Options: 
1) Rs.250 
 
2) Rs.205 
 
3) Rs.240 
 
4) Rs.200 

  

Correct Answer: Rs.240   
Candidate Answer: Rs.240   
  

Question 56.The weights of two iron balls are 3.5 kg and 7.5 kg. What is the percentage 
weight of the 1st ball with respect to 2nd ball. 
 
 
िप िपहे के गपिकपों का ििि 3.5 दक.ग्रा. और 7.5 दक.ग्रा. है। िूसरे गपिक की तुििा में पहिे गपिक 
का ििि प्रदतशत बताइए ?  

  

Options: 
1)  

 
 
2) 35% 
 
3)  

 
 
4) 45% 

  

Correct Answer:  

 
  



Candidate Answer:  

 
  

  

Question 57.A Bus travels at the speed of 36 km/hr, then the distance covered by it in one 
second is 
 
 
 
एक बस 36 दक.मी./र्ोंटा की गदत से चिती है। बताइए िह एक सेकेि में दकतिी िूरी तय करेगी ?  

  

Options: 
1) 10 m 
10 मीटर 
2) 15 m 
15 मीटर 
3) 12.5 m 
12.5 मीटर 
4) 13.5 m 
13.5 मीटर  

  

Correct Answer: 10 m 
10 मीटर    

Candidate Answer: 10 m 
10 मीटर    

  

Question 58. 

 
 
 

 

  

Options: 
1)  

 
 
2) -1 
 
3) 2ab 
 
4) 1 

  

Correct Answer: 1   
Candidate Answer: 1   
  

Question 59.The value of (1 - √2) + (√2 - √3) + (√3 - √4) + ..... + (√15 - √16) is  
   



(1 - √2) + (√2 - √3) + (√3 - √4) + ..... + (√15 - √16) का माि ज्ञात कीदिए ?  

Options: 
1) 0 
 
2) 1 
 
3) -3 
 
4) 4 

  

Correct Answer: -3   
Candidate Answer: -3   
  

Question 60.∆ABC and ∆DEF are two similar triangles and the perimeter of ∆ABC and 

∆DEF are 30 cm and 18 cm respectively. If length of DE = 36 cm, then length of AB is  
 
∆ABC और ∆DEF िप एक िैसे दिभुि है और ∆ABC तर्ा ∆DEF की पररदधयाों क्रमशः 30 से.मी. 
और 18 से.मी. है। यदि DE की िम्बाई 36 से.मी. हप तप AB की िम्बाई बताइए ?  

  

Options: 
1) 60 cm 
60 से.मी. 
2) 40 cm 
40 से.मी. 
3) 45 cm 
45 से.मी. 
4) 50 cm 
50 से.मी.  

  

Correct Answer: 60 cm 
60 से.मी.    

Candidate Answer: 60 cm 
60 से.मी.    

  

Question 61.If the length of a chord of a circle is equal to that of the radius of the circle, 
then the angle subtended, in radians, at the centre of the circle by chord is 
 
 
यदि दकसी िृत्त के िीिा की िम्बाई िृत्त की दििा के बराबर हप, तप िृत्त के केन््दर पर िीिा द्वारा 
अि्तररत कपण (रेद डयि में) क्या हपगा ?  

  

Options: 
1) 1 
 
2) ∏/2 
 
3) ∏/3 
 
4) ∏/4 

  

Correct Answer: ∏/3   



Candidate Answer: ∏/3   
  

Question 62.The value of (sec245o - cot245o) - (sin230o + sin260o) is  
 
(sec245o - cot245o) - (sin230o + sin260o) का माि क्या हपगा ?  

  

Options: 
1) 1 
 
2) 2√3 
 
3) 0 
 
4)  

 

  

Correct Answer: 0   
Candidate Answer: 0   
  

Question 63.The average salary of male employees in a firm was Rs. 5200 and that of 
females was Rs. 4200. The mean salary of all the employees was Rs. 5000. What is the % of 
female employees? 
 
 
दकसी िमच के पुरूष कमचचाररओों का औसत िेति Rs. 5200 र्ा और मदहिा कमचचाररयपों का Rs. 
4200 र्ा| यदि सभी कमचचाररयपों कप दमिाकर औसत िेति Rs. 5000 हप, तप मदहिा कमचचाररयपों का 
प्रदतशत क्या है ?  

  

Options: 
1) 80% 
 
2) 20% 
 
3) 40% 
 
4) 30% 

  

Correct Answer: 20%   
Candidate Answer: 20%   
  

Question 64. 

 
 
 

 

  

Options: 
1) 1   



 
2) -1 
 
3) 4 
 
4) 2√5 

Correct Answer: 1   
Candidate Answer: 1   
  

Question 65.The cube of 105 is 
 
 
105 का र्ि क्या है ?  

  

Options: 
1) 1157625 
 
2) 1175625 
 
3) 1185625 
 
4) 1158625 

  

Correct Answer: 1157625   
Candidate Answer: 1157625   
  

Question 66.In ∆ABC, ∠B is right angle, D is the mid point of the side AC. If AB = 6 cm, 
BC = 8cm, then the length of BD is  
 
∆ABC मे ∠B समकपण है। और भुिा AC पर D मध्य दबन्िु है। यदि AB = 6 से.मी., BC = 8 से.मी. 
हप तप BD की िम्बाई बताइए ?  

  

Options: 
1) 4 cm 
4 से.मी. 
2) 5 cm 
5 से.मी. 
3) 8 cm 
8 से.मी. 
4) 12 cm 
12 से.मी.  

  

Correct Answer: 5 cm 
5 से.मी.    

Candidate Answer: 5 cm 
5 से.मी.    

  

Question 67.The diagonals of two squares are in the ratio 5:2.The ratio of their area is 
   



 
िप िगों के दिकणों का अिुपात 5:2 है तप िगच के के्षििि का अिुपात ज्ञात कीदिए ?  

Options: 
1) 5:6 
 
2) 25:4 
 
3) 5:4 
 
4) 125:8 

  

Correct Answer: 25:4   
Candidate Answer: 25:4   
  

Question 68.The angle of elevation of a ladder leaning against a wall is 60o and the foot of 
the ladder is 4.6 m away from the wall. The length of the ladder is  
 
दकसी िीिार से िगी दकसी सीढ़ी का उन्नयि कपण 600 है और सीढ़ी के पाये िीिार से 4.6 मीटर की 
िूरी पर है। सीढ़ी की िम्बाई बताइए ?  

  

Options: 
1) 2.3 m 
2.3 मीटर 
2) 4.6 m 
4.6 मीटर 
3) 9.2 m 
9.2 मीटर 
4) 7.8 m 
7.8 मीटर  

  

Correct Answer: 9.2 m 
9.2 मीटर    

Candidate Answer: 9.2 m 
9.2 मीटर    

  

Question 69.The product of two 2-digit numbers is 2160 and their H.C.F. is 12. The 
numbers are 
 
 
2 अोंक की सोंख्याओों का गुणििि 2160 है और उिका महत्तम समापितचक 12 है। बताएों  सोंख्याएों  
क्या है ?  

  

Options: 
1) (12, 60) 
 
2) (72, 30) 
 
3) (36, 60) 
 
4) (60, 72) 

  



Correct Answer: (36, 60)   
Candidate Answer: (72, 30)   
  

Question 70.The difference between simple and compound interests compounded annually 
on a certain sum of money for 2 years at 4% per annum is Rs. 1. The sum (in Rs.) is: 
 
 
दकसी रादश पर 4% िादषचक की िर से 2 िषच के दिए (िादषचक रूप से सोंयपदित) साधारण ब्याि और 
चक्रिृन्धि ब्याि का अन्तर Rs. 1 है। िह धिरादश क्या है?  

  

Options: 
1) 620 
 
2) 630 
 
3) 640 
 
4) 625 

  

Correct Answer: 625   
Candidate Answer: 625   
  

Question 71.In a mixture of 25 litres, the ratio of milk to water is 4:1. Another 3 litres of 
water is added to the mixture. The ratio of milk to water in the new mixture is 
 
 
25 िीटर के दमश्रण में िूध और पािी का अिुपात क्रमशः 4:1 है। यदि दमश्रण में 3 िीटर पािी और 
दमिा दिया िाए तप दमश्रण में िूध और पािी का अिुपात क्या हपगा ?  

  

Options: 
1) 5:1 
 
2) 5:2 
 
3) 5:3 
 
4) 5:4 

  

Correct Answer: 5:2   
Candidate Answer: 5:2   
  

Question 72.A constituency is divided in four regions A, B, C and D. Two candidates X & 
Y contested the last election from that constituency. The adjoining graph gives the break up 
of voting in the four regions. Study the graph and answer the following questions.  
 
एक दििाचचि के्षि कप चार के्षिपों A,B,C,D में बाुँटा गया है। िप प्रत्यादशयपों X तर्ा Y िे इस दििाचचि के्षि 
से चुिाि िड़ा। यहाुँ दिया गया ग्राि दििाचचि के्षि के चारपों के्षिपों में मतपों कप अिग अिग िशाचता है। 
ग्राि का अध्ययि कीदिए और दिम्िदिन्धित प्रश्िपों के उत्तर िीदिए।  
 

  



 
 
Approximately how much percent of voters voted in favour of X? 
 
 
िगभग दकतिे प्रदतशत मतिाताओों िे X के पक्ष में मतिाि दकया ?  

Options: 
1) 45.4 
 
2) 47.5 
 
3) 50 
 
4) 225 

  

Correct Answer: 47.5   
Candidate Answer: 47.5   
  

Question 73.A constituency is divided in four regions A, B, C and D. Two candidates X & 
Y contested the last election from that constituency. The adjoining graph gives the break up 
of voting in the four regions. Study the graph and answer the following questions.  
 
एक दििाचचि के्षि कप चार के्षिपों A,B,C,D में बाुँटा गया है। िप प्रत्यादशयपों X तर्ा Y िे इस दििाचचि के्षि 
से चुिाि िड़ा। यहाुँ दिया गया ग्राि दििाचचि के्षि के चारपों के्षिपों में मतपों कप अिग अिग िशाचता है। 
ग्राि का अध्ययि कीदिए और दिम्िदिन्धित प्रश्िपों के उत्तर िीदिए।  
 

  



 
 
Approximately how much percent of voters did not caste their votes? 
 
 
िगभग दकतिे प्रदतशत मतिाताओों िे मतिाि िही ों दकया?  

Options: 
1) 4.9 
 
2) 4.5 
 
3) 0.23 
 
4) 23 

  

Correct Answer: 4.9   
Candidate Answer: 4.9   
  

Question 74.A constituency is divided in four regions A, B, C and D. Two candidates X & 
Y contested the last election from that constituency. The adjoining graph gives the break up 
of voting in the four regions. Study the graph and answer the following questions.  
 
एक दििाचचि के्षि कप चार के्षिपों A,B,C,D में बाुँटा गया है। िप प्रत्यादशयपों X तर्ा Y िे इस दििाचचि के्षि 
से चुिाि िड़ा। यहाुँ दिया गया ग्राि दििाचचि के्षि के चारपों के्षिपों में मतपों कप अिग अिग िशाचता है। 
ग्राि का अध्ययि कीदिए और दिम्िदिन्धित प्रश्िपों के उत्तर िीदिए।  
 

  



 
 
In region B, Y gets A% more votes than X. Find the value of A? 
 
 
के्षि B में, Y कप X से A% अदधक मत दमिे | A का माि बताओों ?  

Options: 
1) 24% 
 
2) 21% 
 
3) 19% 
 
4) 15% 

  

Correct Answer: 21%   
Candidate Answer: 21%   
  

Question 75.A constituency is divided in four regions A, B, C and D. Two candidates X & 
Y contested the last election from that constituency. The adjoining graph gives the break up 
of voting in the four regions. Study the graph and answer the following questions.  
 
एक दििाचचि के्षि कप चार के्षिपों A,B,C,D में बाुँटा गया है। िप प्रत्यादशयपों X तर्ा Y िे इस दििाचचि के्षि 
से चुिाि िड़ा। यहाुँ दिया गया ग्राि दििाचचि के्षि के चारपों के्षिपों में मतपों कप अिग अिग िशाचता है। 
ग्राि का अध्ययि कीदिए और दिम्िदिन्धित प्रश्िपों के उत्तर िीदिए।  
 

  



 
 
Nearly what percentage of his total votes did X receive from region B? 
 
 
X कप दमिे कुि मतपों का िगभग दकतिा प्रदतशत मत के्षि B से प्राप्त हआ ?  

Options: 
1) 30 
 
2) 31 
 
3) 32 
 
4) 35 

  

Correct Answer: 32   
Candidate Answer: 32   
  

Question 76.In the following question, out of the four alternatives, choose the word which 
best expresses the meaning of the given word and click the button corresponding to it. 
 
INSOLENT  

  

Options: 
1) DISTASTEFUL 
2) IMPATIENT 
3) DIABOLIC 
4) RUDE  

  

Correct Answer: RUDE    
Candidate Answer: [ NOT ANSWERED ]    
  

Question 77.In the following question, out of the four alternatives, choose the word which is 
opposite in meaning to the given word and click the button corresponding to it.   



 
VIRTUE  

Options: 
1) WILES 
2) CURSE 
3) VICE 
4) CUNNING  

  

Correct Answer: VICE    
Candidate Answer: VICE    
  

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the 
correctly spelt word and click the button corresponding to it.    

Options: 
1) Tranquility 
2) Tranquillity 
3) Trankquility 
4) Trankwility  

  

Correct Answer: Tranquillity    
Candidate Answer: Tranquility    
  

Question 79.In the following questions, one part of the sentence may have an error. Find out 
which part of the sentence has an error and click the button corresponding to it. If the 
sentence is free from error, click the "No error" option. 
 
Could she cite (A)/ any precedent in support (B)/ for her case? (C)/ No Error(D) 

  

Options: 
1) A 
2) B 
3) C 
4) D  

  

Correct Answer: C    
Candidate Answer: C    
  

Question 80.In the following questions, one part of the sentence may have an error. Find out 
which part of the sentence has an error and click the button corresponding to it. If the 
sentence is free from error, click the "No error" option. 
 
The General Manager of the industry has felt (A)/ that there is no use of (B)/ discussing 
about the problems with the labourers. (C)/No Error (D)  

  

Options: 
1) A 
2) B 
3) C 
4) D  

  

Correct Answer: C    



Candidate Answer: C    
  

Question 81.In the following questions, one part of the sentence may have an error. Find out 
which part of the sentence has an error and click the button corresponding to it. If the 
sentence is free from error, click the "No error" option. 
 
She enquired from the stranger (A)/ who was he and (B)/ what he wanted from her. (C)/ No 
Error (D)  

  

Options: 
1) A 
2) B 
3) C 
4) D  

  

Correct Answer: B    
Candidate Answer: A    
  

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). 
Four alternatives are suggested for each question. For each question, choose the correct 
alternative and click the button corresponding to it. 
 
We acted on a __________ impulse.  

  

Options: 
1) momentary 
2) momentous 
3) memorable 
4) meritorious  

  

Correct Answer: momentary    
Candidate Answer: momentous    
  

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). 
Four alternatives are suggested for each question. For each question, choose the correct 
alternative and click the button corresponding to it. 
 
Do your best and we'll back you ______ .  

  

Options: 
1) on 
2) in 
3) out 
4) up  

  

Correct Answer: up    
Candidate Answer: up    
  

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). 
Four alternatives are suggested for each question. For each question, choose the correct 
alternative and click the button corresponding to it. 
 

  



Sanjay __________his mother in the morning everyday.  

Options: 
1) calls in 
2) calls up 
3) calls off 
4) calls down  

  

Correct Answer: calls up    
Candidate Answer: calls up    
  

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. 
Choose the alternative which best expresses the meaning of the Idiom/Phrase and click the 
button corresponding to it. 
 
Put two and two together  

  

Options: 
1) Bad at mathematics 
2) Poor financial condition 
3) Reason logically 
4) Forget something  

  

Correct Answer: Reason logically    
Candidate Answer: Reason logically    
  

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. 
Choose the alternative which best expresses the meaning of the Idiom/Phrase and click the 
button corresponding to it. 
 
An axe to grind  

  

Options: 
1) Attack aggressively 
2) Suffer a lot 
3) Betray somebody 
4) Have a selfish interest  

  

Correct Answer: Have a selfish interest    
Candidate Answer: Have a selfish interest    
  

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. 
Choose the alternative which best expresses the meaning of the Idiom/Phrase and click the 
button corresponding to it. 
 
Pick to pieces  

  

Options: 
1) Study something superficially 
2) Complete a work entirely 
3) Analyse critically 
4) Select only what you need.  

  

Correct Answer: Analyse critically    



Candidate Answer: Select only what you need.    
  

Question 88.Out of the four alternatives, choose the one which can be substituted for the 
given words/sentences and click the button corresponding to it. 
 
A person who lays too much stress on bookish-learning  

  

Options: 
1) Pervert 
2) Pedant 
3) Philosopher 
4) Scholar  

  

Correct Answer: Pedant    
Candidate Answer: Philosopher    
  

Question 89.Out of the four alternatives, choose the one which can be substituted for the 
given words/sentences and click the button corresponding to it. 
 
Postponement or delay permitted in the suffering of a penalty or the discharge of an 
obligation.  

  

Options: 
1) Respite 
2) Spire 
3) Splurge 
4) Scourge  

  

Correct Answer: Respite    
Candidate Answer: Respite    
  

Question 90.Out of the four alternatives, choose the one which can be substituted for the 
given words/sentences and click the button corresponding to it. 
 
Deviation from the right course  

  

Options: 
1) Imagination 
2) Amalgamation 
3) Illumination 
4) Aberration  

  

Correct Answer: Aberration    
Candidate Answer: Amalgamation    
  

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to 
the underlined part which will improve the sentence. Choose the correct alternative and 
click the button corresponding to it. In case no improvement is needed, click the button 
corresponding to "No improvement". 
 
He likes to drive his car at a speed of eighty kilometres each hour.  

  

Options:   



1) every hour 
2) an hour 
3) hourly 
4) No improvement  

Correct Answer: an hour    
Candidate Answer: No improvement    
  

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to 
the underlined part which will improve the sentence. Choose the correct alternative and 
click the button corresponding to it. In case no improvement is needed, click the button 
corresponding to "No improvement". 
 
His argument against his opponent duly brought jeers from the crowd.  

  

Options: 
1) invective 
2) praise 
3) controversy 
4) No improvement  

  

Correct Answer: invective    
Candidate Answer: No improvement    
  

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to 
the underlined part which will improve the sentence. Choose the correct alternative and 
click the button corresponding to it. In case no improvement is needed, click the button 
corresponding to "No improvement". 
 
Do you know the time when the train departs?  

  

Options: 
1) which 
2) by 
3) that 
4) No improvement  

  

Correct Answer: No improvement    
Candidate Answer: that    
  

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to 
the underlined part which will improve the sentence. Choose the correct alternative and 
click the button corresponding to it. In case no improvement is needed, click the button 
corresponding to "No improvement". 
 
I'm staying with some friends who are owning a farm.  

  

Options: 
1) will be owning 
2) own 
3) have been owning 
4) No improvement  

  



Correct Answer: own    
Candidate Answer: own    
  

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to 
the underlined part which will improve the sentence. Choose the correct alternative and 
click the button corresponding to it. In case no improvement is needed, click the button 
corresponding to "No improvement". 
 
An old friend, may I give you an advice?  

  

Options: 
1) give you some advice 
2) give you an advise 
3) offer you an advice 
4) No improvement  

  

Correct Answer: give you some advice    
Candidate Answer: No improvement    
  

Question 96.A passage is given with 5 questions following it. Read the passage carefully 
and choose the best answer to each question out of the four alternatives and click the button 
corresponding to it.  
 
The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward 
across the largest and northernmost state in the United States, ending at a remote ice-free 
seaport village nearly 800 miles from where it begins. It is massive in size and extremely 
complicated to operate. The steel pipe crosses windswept plains and endless miles of 
delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs 
sheer mountains, plunges over rocky crags, makes its way through thick forests, and passes 
over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 
million barrels (or 84 million gallons) of crude oil can be pumped through it daily. Resting 
on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course 
high above the frozen earth. Other long sections drop out of sight beneath spongy or rocky 
ground and return to the surface later on. The pattern of the pipeline's up-and-down route is 
determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay 
of the land, and the varied compositions of soil, rock, or permafrost (permanently frozen 
ground). A little more than half of the pipeline is elevated above the ground. The remainder 
is buried anywhere from 3 to 12 feet, depending largely upon the type of terrain and the 
properties of the soil. One of the largest in the world, the pipeline cost approximately $8 
billion and is by far the biggest and most expensive construction project ever undertaken by 
private industry. In fact, no single business could raise that much money, so 8 major oil 
companies formed a consortium in order to share the costs. Each company controlled oil 
rights to particular shares of land in the oil fields and paid into the pipeline-construction 
fund according to the size of its holdings. Today, despite enormous problems of climate, 
supply shortage, equipment breakdowns, labour disagreements, treacherous terrain, a certain 
amount of mismanagement, and even theft, the Alaska pipeline has been completed and is 
operating. 
 
The Alaskan pipeline ends  

  

Options:   



1) north of Alaska 
2) at a seaport village 
3) after passing through canyons and rivers 
4) at a tundra covered village  

Correct Answer: at a seaport village    
Candidate Answer: at a seaport village    
  

Question 97.A passage is given with 5 questions following it. Read the passage carefully 
and choose the best answer to each question out of the four alternatives and click the button 
corresponding to it.  
 
The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward 
across the largest and northernmost state in the United States, ending at a remote ice-free 
seaport village nearly 800 miles from where it begins. It is massive in size and extremely 
complicated to operate. The steel pipe crosses windswept plains and endless miles of 
delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs 
sheer mountains, plunges over rocky crags, makes its way through thick forests, and passes 
over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 
million barrels (or 84 million gallons) of crude oil can be pumped through it daily. Resting 
on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course 
high above the frozen earth. Other long sections drop out of sight beneath spongy or rocky 
ground and return to the surface later on. The pattern of the pipeline's up-and-down route is 
determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay 
of the land, and the varied compositions of soil, rock, or permafrost (permanently frozen 
ground). A little more than half of the pipeline is elevated above the ground. The remainder 
is buried anywhere from 3 to 12 feet, depending largely upon the type of terrain and the 
properties of the soil. One of the largest in the world, the pipeline cost approximately $8 
billion and is by far the biggest and most expensive construction project ever undertaken by 
private industry. In fact, no single business could raise that much money, so 8 major oil 
companies formed a consortium in order to share the costs. Each company controlled oil 
rights to particular shares of land in the oil fields and paid into the pipeline-construction 
fund according to the size of its holdings. Today, despite enormous problems of climate, 
supply shortage, equipment breakdowns, labour disagreements, treacherous terrain, a certain 
amount of mismanagement, and even theft, the Alaska pipeline has been completed and is 
operating. 
 
What is the capacity of the Alaskan pipeline?  

  

Options: 
1) 2 million gallons of crude oil 
2) 4 million barrels of crude oil 
3) 84 million gallons of crude oil 
4) 84 billion barrels of crude oil  

  

Correct Answer: 84 million gallons of crude oil    
Candidate Answer: 84 million gallons of crude oil    
  

Question 98.A passage is given with 5 questions following it. Read the passage carefully 
and choose the best answer to each question out of the four alternatives and click the button 
corresponding to it.  

  



 
The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward 
across the largest and northernmost state in the United States, ending at a remote ice-free 
seaport village nearly 800 miles from where it begins. It is massive in size and extremely 
complicated to operate. The steel pipe crosses windswept plains and endless miles of 
delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs 
sheer mountains, plunges over rocky crags, makes its way through thick forests, and passes 
over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 
million barrels (or 84 million gallons) of crude oil can be pumped through it daily. Resting 
on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course 
high above the frozen earth. Other long sections drop out of sight beneath spongy or rocky 
ground and return to the surface later on. The pattern of the pipeline's up-and-down route is 
determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay 
of the land, and the varied compositions of soil, rock, or permafrost (permanently frozen 
ground). A little more than half of the pipeline is elevated above the ground. The remainder 
is buried anywhere from 3 to 12 feet, depending largely upon the type of terrain and the 
properties of the soil. One of the largest in the world, the pipeline cost approximately $8 
billion and is by far the biggest and most expensive construction project ever undertaken by 
private industry. In fact, no single business could raise that much money, so 8 major oil 
companies formed a consortium in order to share the costs. Each company controlled oil 
rights to particular shares of land in the oil fields and paid into the pipeline-construction 
fund according to the size of its holdings. Today, despite enormous problems of climate, 
supply shortage, equipment breakdowns, labour disagreements, treacherous terrain, a certain 
amount of mismanagement, and even theft, the Alaska pipeline has been completed and is 
operating. 
 
What are "bents"?  

Options: 
1) Zigzag shape of pipeline 
2) Pipeline's up and down route 
3) The section of the pipeline that drops out of sight 
4) The H-shaped steel racks  

  

Correct Answer: The H-shaped steel racks    
Candidate Answer: The H-shaped steel racks    
  

Question 99.A passage is given with 5 questions following it. Read the passage carefully 
and choose the best answer to each question out of the four alternatives and click the button 
corresponding to it.  
 
The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward 
across the largest and northernmost state in the United States, ending at a remote ice-free 
seaport village nearly 800 miles from where it begins. It is massive in size and extremely 
complicated to operate. The steel pipe crosses windswept plains and endless miles of 
delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs 
sheer mountains, plunges over rocky crags, makes its way through thick forests, and passes 
over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 
million barrels (or 84 million gallons) of crude oil can be pumped through it daily. Resting 
on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course 
high above the frozen earth. Other long sections drop out of sight beneath spongy or rocky 

  



ground and return to the surface later on. The pattern of the pipeline's up-and-down route is 
determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay 
of the land, and the varied compositions of soil, rock, or permafrost (permanently frozen 
ground). A little more than half of the pipeline is elevated above the ground. The remainder 
is buried anywhere from 3 to 12 feet, depending largely upon the type of terrain and the 
properties of the soil. One of the largest in the world, the pipeline cost approximately $8 
billion and is by far the biggest and most expensive construction project ever undertaken by 
private industry. In fact, no single business could raise that much money, so 8 major oil 
companies formed a consortium in order to share the costs. Each company controlled oil 
rights to particular shares of land in the oil fields and paid into the pipeline-construction 
fund according to the size of its holdings. Today, despite enormous problems of climate, 
supply shortage, equipment breakdowns, labour disagreements, treacherous terrain, a certain 
amount of mismanagement, and even theft, the Alaska pipeline has been completed and is 
operating. 
 
How was the fund for pipeline - construction generated?  

Options: 
1) 8 major oil companies joined hands to share the cost 
2) 8 major oil companies borrowed $8 billion. 
3) A single private company raised $8 billion 
4) Oil rights were sold to 8 major oil companies  

  

Correct Answer: 8 major oil companies joined hands to share the cost    
Candidate Answer: 8 major oil companies joined hands to share the cost    
  

Question 100.A passage is given with 5 questions following it. Read the passage carefully 
and choose the best answer to each question out of the four alternatives and click the button 
corresponding to it.  
 
The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward 
across the largest and northernmost state in the United States, ending at a remote ice-free 
seaport village nearly 800 miles from where it begins. It is massive in size and extremely 
complicated to operate. The steel pipe crosses windswept plains and endless miles of 
delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs 
sheer mountains, plunges over rocky crags, makes its way through thick forests, and passes 
over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 
million barrels (or 84 million gallons) of crude oil can be pumped through it daily. Resting 
on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course 
high above the frozen earth. Other long sections drop out of sight beneath spongy or rocky 
ground and return to the surface later on. The pattern of the pipeline's up-and-down route is 
determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay 
of the land, and the varied compositions of soil, rock, or permafrost (permanently frozen 
ground). A little more than half of the pipeline is elevated above the ground. The remainder 
is buried anywhere from 3 to 12 feet, depending largely upon the type of terrain and the 
properties of the soil. One of the largest in the world, the pipeline cost approximately $8 
billion and is by far the biggest and most expensive construction project ever undertaken by 
private industry. In fact, no single business could raise that much money, so 8 major oil 
companies formed a consortium in order to share the costs. Each company controlled oil 
rights to particular shares of land in the oil fields and paid into the pipeline-construction 
fund according to the size of its holdings. Today, despite enormous problems of climate, 

  



supply shortage, equipment breakdowns, labour disagreements, treacherous terrain, a certain 
amount of mismanagement, and even theft, the Alaska pipeline has been completed and is 
operating. 
 
Which of the following were not problems faced while constructing the pipeline?  

Options: 
1) Supply shortages 
2) Treacherous terrain 
3) Lack of funds 
4) Equipment breakdown  

  

Correct Answer: Lack of funds    
Candidate Answer: Lack of funds    
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